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(414 7)
o ® B HEE)  HEO ZH & @ HE(%) T
1 X % H 250, 899 21.2 1 22,1317, 311 26. 1 88
2 A 7 v — % 196, 340 6.6 2 15, 126, 404 17.8 11
3 b ® 156, 811 13.2) 5 6,194, 065 1.3 40
4 Y A < 3 135, 781 1.5 4 1,207,018 8.5 93
S h - R — & 128,619 10.8 3 1,210, 604 8.5 96
6 L3 xF 3w 46, 305 3.9 1 9,042,574 2.9 109
1 B & H 39,710 3.3/ 6 9, 195, 028 6.8 145
8 | N T H 24, 467 2119 1,574,078 1.9 64
9 z % & 22,584 1.9/ 8 3,924,094 4.2 156
"W 2 42 —F — R 17,550 .5 1 1,307, 880 1.5 15
1" TJ1=vI R (H) 15, 800 1.3] 14 492,102 0.6 31
2 4 — ~ 3 15, 300 1.3] 18 143, 586 0.2 9
13 7 A 3 — 15,033 1.3 13 106, 288 0.8 47
1w 7 4 k v 13, 648 1.2 15 463, 752 0.5 34
v » ¥ # = 9,895 0.8 12 870, 156 1.0 88
% v 7 v (E) 1,330 0.6 16 461, 592 0.5 63
17 | il C &% ) 4,960 0.4 10 1,345,410 1.6 2N
8 7 3 v 4 3 R 4,270 0.4 17 254, 826 0.3 60
9% 35 v (%) 1,830 0.2/ 19 68, 850 0.1 38
20 Eo& Y (%) 850 0.1 20 62, 424 0.1 13
21 | R Y 7 260 0.0 25 15, 552 0.0 60
22 | ( &% ) & 250 0.0 22 18, 630 0.0 15
2 | 7R a—L4L 204 0.0 21 21,794 0.0 107
24 T =5 (&) 200 0.0 23 16, 956 0.0 85
25 | 5 ') 7 186 0.0 24 16, 254 0.0 81
26 ' ¥ F~ U R 160 0.0 27 2,862 0.0 18
21 | A 2z — 95 0.0 26 5,940 0.0 108
28 L F T 30 0.0/ 29 1,620 0.0 o4
29 1—Hh10) (&) 30 0.0 28 2,268 0.0 16
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(Ty7e)
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T

i & B HE@E) RO TH & (%) T
T £ o bt 1 Y 7 38, 044 3.2 1 2,218,930 2.6 58
2 & o o8 Y E 30, 254 2.6 3 950, 227 1.1 31
3 % o 8 Y & 1,783 0.7/ 2 1,593, 421 1.9 205
] Y € &t 1,185,438 | 100.0 84,812,497 100.0 12
(864)

o % B HEGH  HEO IR & @ E(%) P
T3y (%) & 612 25.5 1 4,363, 556 86.3 7,130
2 T o~ v (%) 136 °0.7) 3 01,019 1.0 375
KA ( &% ) 90 3.8 1 8,748 0.2 97
4 YR T Y (%) 16 3.2/ 6 11,880 0.2 156
) Naz=7 (%) 12 3.0 5 26, 309 0.5 365
6 ASraxT (8) 61 2.5 4 28,512 0.6 467
1 7T+ R (#%) 42 1.8 2 121,176 2.4 2,88
8 v 3N (%) 10 0.4/ 8 o, 940 0.1 594
T2 o ft % B 1,299 54.2 1 438, 804 8.7 338
£ Y H 2,398 100.0 5,055,944 100.0 2,108

(Z0H)
o % B W CR/8/E) RO T & (%) FIIHE
1 ft ®| H 892 1.2 2 35, 251 9.9 40
2 KR 2 (8 ) 204 16.3| 1 99, 252 27.8 487
3 |3 4L (8] ) &t 24 1.9 4 10, 692 3.0 446
4 LN « E ) 20 1.6/ 5 6, 480 1.8 324
S v ¥y (8 ) § 3 0.2) 3 14, 580 4.1 4,860
6 r ( 3] ) 1 0.1 6 6, 480 1.8 6,480
1 TOMmBEWEY 109 8.7/ 1 184,032 51.6 1,688
z D fit &t 1,253 100.0 356,767 100.0 285
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